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B ERE B# ERRE
A€V CPU — =
BUERIEIE BE#EBE BUERIEIE BE#BE
768MB 1vCPU 9.45P3 9.48P3 \270P3 \290F‘3
(FA0.49M) (F45A0.52MH) (Fi3A297H) (Fi3A319M)
1GB 1vCPU \O.5F‘:_| \0.64P§ ‘318F‘3 f109F‘3
(F4A0.55M) (F4A0.70M) (FaA349M) (FiiA449M)
>GB >vCPU ‘ 1M \1.16P3 \636P3 \740F‘3
(BHAL1.1H) (FHA1.27H) (Fi3A699M) (Fi3A814M)
GB ACPU \2F‘3 \2.32F‘3 \1,272P3 \1,482F‘3
(FhA2.2M) (FA2.55M) (FaA1,399M) (FtiA1,630M)
. vCPU ‘4F'3 fl.87F‘3 \2,544P§ \3,100F‘3
(FtiA4.4M) (BEIA5.35M) (B1A2,798M) (BA3,410M)
16G 6vCPU \ 8H \10.22F‘3 \5,088F‘3 \6,500F‘3
(F13A8.8M) (FA11.24M) (FA5,596M) (FA7,150M)
396 B CPU \ 16 \22.01F':_| ‘10,176F'3 514,000F'H
(FA17.6M) (FtiA24.21F) (FiiA11,193M) | (FA15,400M)
Windows
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XEY CED) _ FEENE _ BE LIERE
BERTEIE BUE#EEE BUERTEIE BE#BE
1GB 2vCPU 1.05H 1.26M 680 820M
(FtiA1.150) (1.38M) (FHiA748M) (FtiA902)
2GB 3vCPU 2.18 2.43H 1,360M 1,582H
(BHiA2.31M) (2.67M) (BEHA1,496M) | (BtiAl,740M)
4GB 4vCPU 4.2H 4.89H 2,660 3,100H
(B5A4.62M) (5.37M) (BA2,926/M) | (BHA3,410M)
8GB 6vCPU 8.4H 9.76H 5,350 6,219M
(BtiA9.24M) (10.73M) (BtiA5,885M) | (#tiA6,840M)
16GB 8vCPU 16.8M 19.51H 10,720 12,446H
(BtiA18.48M) (21.46M) (BtiA11,792M) | (BHA13,690M)
32GB 10vCPU 33.6H 39.02M 21,440M 24,900M
(Fi3A36.96M3) (42.92M) (F1iA23,584M) | (FA27,390M)
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Microsoft Windows Server 11— 550/ 955M
UE— ~FZ by F(RDS)SAL (BiA605M) (BtiA1,050M)




